K=0
—

L/——Y"—
ey )] Mange e sum Mbh ethy FoRM

- . . ¥~ Ty
@-8(% ZQCK ‘J> (DCOML“(\L&TCS, ZQ(‘ ='Za(- s At act et

ke i

=\

Math 152 - Fall 2012 - Quiz #8 Score: out of 10

Name: @ Wh
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| Show all work clearly and in order. Please box your answers.

1. Each series below is geometric. Determine both a and r. Then decide whether the series converges
or diverges. If the series converges, then find its sum. If it diverges, write “NO SUM.”
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2. Use the Divergence Test to determine whether the given series diverges. If the test yields no con-

clusion, then be sure to say so. You must set up, evaluate, and interpret the correct limit to earn

credit.
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. Use the Integral Test to determine whether the given series converges or diverges. Clearly identi%y the
function f(z) you are embedding the sequence of terms into. You may assume that f(z) is positive, ' .
decreasing and continuous for > 1, so you do not need to verify this. Just use the integral test and
state your conclusion.
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